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Bonnet Paddy 

Adult size : 57/60cm hat size. 

Material : 

2 skeins of Nebula 

Circular needles 4mm 

1 stitch marker 

1 tapestry needle. 

Gauge : 22 stitches/30 rows. 

Abbreviations : 

k : knit 

p : purl 

m1 : make 1 increase (have a look here for help) 

*…* repeat the motive from*to* as much as necessary 

D : decrease: either 3 stitches knit together or 3 stitches purl together according to stitches to be 

knit in your work. Every decrease gives 2 stitches less. 

st: stitch 

  

http://lesaiguillesdecamille.com/category.php?id_category=67
http://www.tricotepastout.com/archives/2013/02/09/26371255.html
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Work : 

Cast on 80 st, put the stitch marker and knit in ribs 1/1: 

Round : *k1 ,p1 *. Repeat this round up to 2.5cm. 

Do a round of increase: 

*m1, (p1, k1) x2, p1, m1, (p1, k1) x2, p1*, 96 st. 

Then repeat the 2 following rounds (moss stitch) until 14cm of total height : 

Round 1 : *p, k* 

Round 2 : *k, p* 

For the decreases, adapt the decrease to the point (if the stitch which you have needs to be knit, 

knit 3 stitches together; if it is a stitch to purl, purl 3 stitches together ) 

Decrease 1 : *13 st moss stitch, D* 84 st 

Do 3 rounds in moss stitch. 

Decrease 2 : *11 st moss stitch, D* 72 st 

Do 3 rounds in moss stitch. 

Decrease 3 : *9 st moss stitch, D* 60 st 

Do 3 rounds in moss stitch. 

Decrease 4 : *7 st moss stitch, D* 48 st 

Do 3 rounds in moss stitch. 

Decrease 5 : *5 st moss stitch, D* 36 st 

Do 1 round in moss stitch. 

Knit 2 together all the st. 

Fix the top of the hat, bring in the threads, cut them short, it’s done ! 

 


